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|[NrCrt|Sesiune|Legit |Optiuni |Note |[Medie |Admis la |Observ |
11 lseer  latioooool |mmmea,smamea |MBAC=6 .25, NPO=6. 20, NPALegereBac—6.55, NPOBAC=6.00 625 1 T
12 TIToL | AT1000001 |IMIT,SIMIT, MAPA,sDMARA | MBAC=7 .50, NPO=8 . 50, NPALegeraBac—6 . 10, NFOBAC=5.50 750 1 T
3 lseer  latioooooz |mmmea,szmmea |MAAC=. 56, NPO=6. 90, NPAlegereBac—5 .25, NPORAC=7.55 656 1 I
12 1T0L |AT1000002 |IMIT,SIMIT, MARA,SIMAPA I&éiéléfié_ﬁééléf65_ﬁéiié;;Q;é;;;éTQQ_&EBéAE;§féé _______ s1s 1 T
5 IT0L | AT1000005 |IMIT, MAPA,SIMIT,smvmRA |MBAC=8 .53, NPO=8 . 45, NPALegeraBac—6 .25, NFOBAC=8.90 a5 lmr I
6 lseer  |aTioo0003 |mmmea,szamea |MAAC=6.21, NPO=5 . 60, NPAlegereBac—6. 85, NPORAC=6.20 621 lsmmra |
17 lseer  |atiooooos |mmmza,szamea |MBAC=7. 65, NPO=8 .20, NPALegereBac—t .95, NPOBAC=5.55 E T T
'8 IToL | |AT1000004 |IMAPA, MIT,sIvAPA,STNIT | MBAC=6. 66, NPO=5. 70, NPALegereBac—6 . 10, NFOBAC=6.20 ses 1 I
s iTon | |aTi000005 |mmrT,smwir,zwmea,smmea |MAAC=3.03, NPO=8 .70, NPAlegereBac—7 .85, NPORAC=7.55 5,05 fmor I
110 |sEPT  |AT1000005 |Ivmph,sTAeA |MBAC—6. 71, NPO-5 . 60, NPALegeraBac—7 .80, NPOBAC—6.75 671 lsmamea |
111 1sEPT  |AT1000006 |TvmEa,sTAeA T |MBAC=6. 21, NPO=5. 35, NPALegereBac—6. 40, NFOBAC=6.90 T I
112 110L  |AT1000006 |IMAPA, IMIT,sIMAPA,sTMIT |MBAC=7.11, NPO=7 .05, NPALegeraBac—7 .50, NPOBAC=6.80 711 mvmea T
115 1100 |AT1000007 |IMIT, MAPA,SIMIT,sIMEPA I&éiéLQTEB_QEBLéf66_ﬁéiié;;Q;é;éléféé_&éééiéléTZB _______ 750 1 T
112 |szeT  |ATi000007 |TvmEA,sTAeA T |MBAC=7.66, NPO—7. 15, NPALegeraBac—7 .35, NFOBAC=8.50 1766 lmvmea I
115 lseer  |atiooooos |mmmea,szmmea |MAAC=G.11, NPO=5 . 65, NPAlegereBac—6. 35, NPORAC=6.35 It .
116 iton | latiooooos \mmrm,smar |MBAC=7. 61, NPO=6 . 55, NPAlegereBac—7 .15, NPOBAC=5.15 I T
117 Ton | IaTi000008 ImMir,smvrr T | MBAC=6. 35, NPO=5. 70, NPALegereBac—6 . 35, NFOBAC=5.00 635 Jemwrr I
118 lseer  |aTio00005 |mmea,szamea |MAAC=. 40, NPO=6 . 30, NPAlegereBac—5. 40, NPORAC=7 .50 6,40 lsmmara |
115 lseer  |atiooooio |mmmea,smamea |MBAC=7. 68, NPO=8 . 10, NPALegereBac—7 .00, NPOBAC=7.95 e 1 T
120 1Ton | |aTio000l0 |tvmpa,smwAea T | MBAC=6. 50, NPO=6. 25, NPALegereBac—7 .20, NFOBAC=7 .75 se0 1 I
121 |T0L | |1AT1000011 |IMIT,IMAPA,SIMIT,sIMmPA |MBAC=8 . 26, NPO=8 . 75, NPALegereBac—6 .75, NPOBAC=7.35 8.2 T T
22 lseer  |aTiooooi1 |mmmea,smamea I&éiéléf5é_ﬁééléf56_ﬁéiiégéiéé;éléféé_ﬁééé£529f£5 _______ I T
125 |szeT | |ATio0001z |tvmea,smwAea T |MBAC=7 .83, NPO=5. 00, NPALegereBac—7 . 30, NFOBAC=7.20 1783 lmvmea I
20 iTon | lamiooooiz mmre T |MAAC=7.55, NPO=5 .55, NPAlegereBac—p .90, NPORAC=5 .40 75 1 I
25 {Ton | |aTi000013 |stwir,stumea, iz, mmea |MBAC=6. 55, NPO=7 .00, NPALegereBac—7 .30, NPOBAC=6.55 o5 1 T
126 |sEPT | |AT1000013 |TvmEa,smAeA T | MBAC=6. 08, NPO=5. 10, NPALegereBac—6. 65, NFOBAC=6.50 508 lsmaea |
27 lseer  |atioooois |smwmem,zwmea |MAAC=G.15, NPO=6. 30, NPAlegereBac—6.70, NPORAC=5 .45 eas 1 I
26 iton | latioooois \mmrm,smar T |MBAC=3 .08, NPO=8 .45, NPALegereBac—t .40, NPOBAC=7 .40 s0s 1 T
125 |sEPT  |ATl000015 |Tvmpa,sTAeA T | MBAC=6. 20, NPO=6. 45, NPALegereBac—7 .00, NFOBAC=5. 15 520 lsmaea |
30 [Ton | |aTi000015 |1mrT, mvaea,smwAza,sTwrr |MPAC=7. 63, NPO=8 . 60, NPAlegereBac—6.35, NPORAC=B.15 EN I
31 lseer  |aTioooois |smwaem, zwmea I&éié_éf5I_ﬁééléfI6_ﬁéiiégéiéé;;;éféé_ﬁéééiéléféé _______ D T
1321700 |AT1000016 |IMAPA, MIT,sIvAPA,STNIT |MBAC=7.10, NPO=6. 80, NPALegeraBac—5.70, NFOBAC=8 .80 710 T I
35 lseer  |atioo0017 |mmmea,smmea |MAAC=7. 68, NPO—7 .35, NPAlegereBac—9. 60, NPORAC=6.10 R I
30 {Ton | |aTi000017 |stvaem, Twmea, miT,sTMIT |MBAC=6. 06, NPO=5 . 30, NPALegereBac—7 .50, NPOBAC=5.00 606 1 T
135 1700 |AT1000018 |IMIT,SIMIT, MAPA,sDMARA |MBAC=7.13, NPO=5. 65, NPALegeraBac—6 . 60, NFOBAC=7 .15 E R I
36 lseer  |atiooools |mmmea,szmmea |MAAC=7. 58, NPO=8 .15, NPAlegereBac—9. 30, NPORAC=5.30 EEr I
37 lseer  lamioooois \mmea T |MBAC=7.33, NPO=6. 60, NPALegereBac=s.10, NPOBAC=8.35 ERE N T
135 1Ton | |aTiooools |smwrsmamea T | MBAC=7 .20, NPO=5. 00, NPALegeraBac—s. 60, NFOBAC=7 .00 720 1T I
35 lseer  lamioooozo lsmwaea T |MAAC=7.03, NPO=5 .50, NPAlegereBac—p .05, NPORAC=7.55 7,05 lsmara |



|[NrCrt|Sesiune|Legit |Optiuni |Note |Medie |Admis la |Observ |
l R l e l e l o l o l e l e l e l
|40 | IUL |AT1000020 |IMAPA, $SIMAPA |MBAC=8.61,NPO=7.95,NPAlegereBac=8.80, NPOBAC=9.10 |8.61 | IMAPA |

141 {Ton | |atioooozi |mmea,mwir,smaara |MAAC=6. 30, NPO=6. 05, NPAlegereBac—5 . 65, NPORAC=7.20 630 1 .
a2 lseer  |aTiooo021 |mmmea,smamea |MBAC=. 58, NPO=5 .15, NPALegereBac—t .20, NPOBAC=6.40 ese 1 T
135 lsEer  |aTioo002z lsmamea T |MBAC=7 .85, NPO=8 . 95, NPALegeraBac—6 . 35, NPOBAC=6.25 785 lsmaea |
40 iTon | lamioooozz mmre T |MAAC=G.51, NPO=6. 90, NPAlegereBac—7 .35, NPORAC=6.50 R .
45 lseer  |aTioo0023 |mmmea,smamea |MBAC=¢. 28, NPO=6. 10, NPALegereBac—6. 65, NPOBAC=6.10 .26 lsmmaza |
126 1Ton | |AT1000023 ImMim,mMARA T |MBAC=8 .75, NPO=5. 70, NPALegereBac—6 .85, NFOBAC=7 .70 a.75  lmor T
127 |T0L | |AT1000024 |IMIT, MAPA,SIMIT,sIMmPA |MBAC=7.95, NPO=7 .05, NPALegeraBac—6 . 60, NFOBAC=8.20 e 1 T
125 |sEPT  |ATi000024 |IvmEh,STARA | MBAC—7 .20, NPO—7 .10, NPALegeraBac—7 .70, NPOBAC—6.80 720 lsmamea |
125 lsEeT  |aTio00025 lsmamea T |MBAC=8 .28, NPO=8 . 25, NPALegeraBac—6 . 30, NFOBAC=8.30 s2e 1T I
50 iTon | lamioooozs lsmwaea T |MAAC=6.11, NPO=6. 05, NPAlegereBac—6. 30, NPORAC=5.50 It I
151 1100 |AT1000026 |IMIT,SIMIT, ARA,SIMAPA |MBAC—7.71, NPO—7 .05, NPAlegeraBac—7 .85, NPOBAC—8.25 7 e I
152 |sEPT  |ATl000026 |Tvmpa,smAea T |MBAC=6.73, NPO=6. 15, NPALegereBac—6. 15, NFOBAC=7.90 R I
55 lseer  |atiooo027 |mmmea,szmmea |MAAC=6. 66, NPO=5 .20, NPAlegereBac—9.10, NPORAC=5.70 666 lsmmara |
54 iton | latioooozr \mmrm,smar T |MBAC=5.05, NPO=5 .45, NPALegereBac—t .60, NPOBAC=0.10 o051 T
55 |sEPT  |ATl000028 |Tvmpa,sTAeA T | MBAC=6. 05, NPO=5. 40, NPALegereBac—6. 70, NFOBAC=6.05 s0s 1 I
56 lton  lamioooozs |mmrm,smar T |MAAC=5. 08, NPO=5 .80, NPAlegereBac—9. 30, NPORAC=8.15 s0s 1 .
57 [Ton | |aTi000025 |TmrT,stMir, Twmem,smamea |MBAC= .53, NPO=8 .25, NPALegereBac—t .30, NPOBAC=5.05 s 1 T
55 |sEzPT  |ATio00026 |smmmem, mwAeA T |MBAC=6. 25, NPO=5. 10, NPALegereBac—6 . 60, NFOBAC=5.05 625 lsmaea |
55 lsEer  lamiooooso lsmwaea T |MAAC=5.33, NPO=5 .65, NPAlegereBac—9. 35, NPORAC=5.00 535 lsmara |
60 lton  latiooooso \mmrr T |MBAC=7.71, NPO=7 .80, NPALegereBac—t .30, NPOBAC=7 .05 E2E R T
|61 1sEPT  |AT1000031 |Tvmpa,smwAea T |MBAC=8 .83, NPO=8 . 85, NPALegereBac—s. 10, NFOBAC=8.55 .83 lmvmea I
62 lton | lamioooosi \mmrm,smar T |MAAC=7.53, NPO=7 . 90, NPAlegereBac—6.40, NPORAC=8.30 ER R .
63 1oL |ATi000032 lmwim,smvir T |MBAC—7.11, NPO-5 .75, NPAlegereBac—6. 90, NPOBAC—8.70 711 Jsmarr I
162 1Ton | |AT1000033 |mMim,smvrr T |MBAC=8 . 18, NPO=6. 60, NPALegeraBac—6 . 95, NFOBAC=5.00 s1e 1T I
165 |ton | |aTio00034 |mmAra,szwmea, iz, smwrr |MAAC=. 45, NPO-10.00, NPALegereRac—s. 45, NPORAC=8.90 .45 fmwmea |
66 lton  latioo003s |mmrm,smar T |MBAC=3 .35, NPO=8 .55, NPALegereBac—t .30, NPOBAC=8.20 s3s 1 T
167 1700 |AT1000036 |IMAPA, MIT,sIvAPA,STNIT |MBAC=7 .05, NPO=5. 10, NPALegereBac—6 . 15, NFOBAC=7.90 705 1T I
68 |ton | |aTi000037 |mmrT, Tvarm,sTwrm,smmea |MAAC=7 .80, NPO=7 .65, NPAlegereBac—9.10, NPORAC=6.45 780 1 I
65 Iton  |atioooose |mmaea,smamea |MBAC= .51, NPO=5. 70, NPALegereBac—t .10, NPOBAC=5.95 D T
170 1Ton | |aTi000038 |tvmpa,smAea T |MBAC=8 . 41, NPO=7 .70, NPALegeraBac—s.30, NFOBAC=8.25 ear T I
171 {Ton | |atioooo4o |mmaea,szwmea, iz, smwrr |MPAC=. 61, NPO=5 . 90, NPAlegereBac—5. 30, NPORAC=6.50 I e R
172 iTon | |atiooooal \mmmea,marr |MBAC=6.23, NPO=5 .70, NPALegereBac—6.75, NPOBAC=6.25 625 1 T
175 1700 |AT1000042 |IMAPA, IMIT,sIvAPA,STNHIT |MBAC=7. 68, NPO=7 .05, NPALegeraBac—6 . 40, NFOBAC=7.60 e 1 I
170 {Ton | |aTi000043 |TmrT,smwir, Twmea,smmea |MAAC=5. 61, NPO=5 .65, NPAlegereBac—10.00, NPORAC=9.00 se 1 I
175 [Ton | |aTi000044 |TmrT, Tvaem,sTwET,smMmRA |MBAC=5.33, NPO=5 .80, NPALegereBac—s.70, NPOBAC=8.50 D T
176 1Ton | |ATi000045 |mvim,smvrr T |MBAC=7 .51, NPO=7 . 20, NPALegereBac—s. 70, NFOBAC=6.55 e I
177 1T0L | |aT1000046 |IMIT,MARA,sIMARA |MBAC=7.71, NPO=8 . 20, NPALegereBac—7 .50, NPOBAC=7.45 1771 mvmea T
176 |Ton | |aTi000047 |TmAza,mMiT,sTwET,smameA |MBAC=6.05, NPO=5 .15, NPALegereBac—6. 80, NPOBAC=6.20 s.0s 1 T
175 1Ton | |aTi000048 |mMim,smvrr T |MBAC=8 .16, NPO=5 . 15, NPALegereBac—6 . 10, NPOBAC=8.25 e1e 1 I
50 |Ton | |ATi000045 |TmApa, mMir,sTAza,sTMIT |MAAC=6.76, NPO—7 .55, NPAlegereBac—6. 35, NPORAC=5.50 676 lmwmea |
81 1100 |AT1000050 |IMiT,ARA,SIMIT |MBAC=8 .01, NPO—7 .70, NPAlegeraBac—7 .70, NPOBAC—8.65 501 T I
182 1oL IATi000051 Imvim,smvrr T | MBAC=8 . 10, NPO=7 . 60, NPALegeraBac—s.25, NFOBAC=7.45 s10 1T I
85 lton | lamioooosz lmmre T |MAAC=8.23, NPO=8 .10, NPAlegereBac—7 .90, NPORAC=8.70 525 lmr I



|[NrCrt|Sesiune|Legit |Optiuni |Note |Medie |Admis la |Observ |
| ==——- |====——- | === |-——7 | ——————————————————————————————————————————————————————— |====——= [===mm |====——= |
82 1oL IATio00053 lmarr T |MBAC=7.66, NPO=7. 15, NPALegereBac—7 .35, NPOBAC=8.50 76 1 I
185 |T0L  |AT1000054 |IMIT,IMAPA,SIMIT,sIMmpA | MBAC=8 .81, NPO-10. 00, NPALegereBac—s .15, NFOBAC=7.70 ls.e1 T T
186 1100 |AT1000055 |IMIT, MAPA,SIMIT,sIvAPA |MBAC—7.15, NPO—7 .75, NPALegereBac—6. 50, NPOBAC=7 .20 715 vaea T
187 1Ton | |AT1000056 ITMIm,mMARA T |MBAC=7.51, NPO=7 .15, NPALegeraBac—6 .55, NFOBAC=7 .75 E T I
188 |T0L  |AT1000057 |IMAPA,SIMAPA, TMIT,STMIT |MBAC=7.45, NPO=8 . 80, NPALegereBac—7 .95, NPOBAC=5.60 17,25 |mvmea T
85 lton  latioooose \mmrm,mvaea |MBAC=.01, NPO=8 . 50, NPALegereBac—t .55, NPOBAC=7.00 s.01  lmer T
150 1T0n | |AT1000058 |smAeA,stMIT T | MBAC=6. 38, NPO=7 . 00, NPALegeraBac—6. 05, NFOBAC=6.10 638 lsmaea |
51 iTon | lamiooooso \mmrm,smar T |MAAC=3.35, NPO=7 . 95, NPAlegereBac—p .40, NPORAC=8.70 P I
192 1100 |AT1000061 |IMIT,SIMIT, MARA,SIMAPA I&éié_éfié_ﬁééléféé_ﬁéiiégéiééééléféé_ﬁéééiéléféé _______ 516 T T
195 1100 |AT1000062 |IMIT,SIMIT, MAPA,sDMARA |MBAC=8 .03, NPO=5 . 65, NPALegeraBac—7 .25, NFOBAC=8.20 s0s 1T I
150 iTon  |atiooooss |smwir,smmen |MAAC=7 .70, NPO=8 . 10, NPAlegereBac—7 .75, NPORAC=T .25 ER T I
155 iton  latiooooss |smwim,mrr |MBAC=. 61, NPO=7 .15, NPAlegereBac—6.10, NPOBAC=6.60 661 lsmwrr T
196 1100 |AT1000085 |IMAPA, IMIT,sIvAPA,STHIT |MBAC=8 . 46, NPO=7 . 35, NPALegereBac—s.00, NFOBAC=5.05 aas 1 I
197 iTon | lamiooooss \mmrm,smar T |MAAC=3.51, NPO=8 .65, NPAlegereBac—p .20, NPORAC=5.40 51 fmr I
158 iton  latioooosr \mmrm,smar |MBAC=. 30, NPO=8 . 70, NPALegereBac—s. 30, NPOBAC=5.50 530 jmr T
195 1700 |AT1000088 |IMIT, MAPA,SIMIT,sDvARA | MBAC=8 . 30, NPO=8 . 50, NPALegereBac—s. 30, NFOBAC=6.70 s30T I
1100 |0n | |ATi000085 |TmrT Tvara, swAza,sTMIT |MAAC=6.55, NPO—7 . 30, NPAlegereBac—7 .85, NPORAC=5.40 s 1 .
1101 1100 |AT1000070 lTMiT,mMAEA T I&é£523f55_ﬁééléfié_ﬁéiiégéiéé;£;§fé5_ﬁéééiél§f§5 _______ e 1 T
1102 1700 |AT1000071 |IMIT, MAPA,SIMIT,sDvmpA |MBAC=7.16, NPO=8 . 40, NPALegereBac—7 .25, NPOBAC=5.85 e T I
1105 |ton | lamioooorz \mmrm,smer T |MAAC=G. 18, NPO=5 .00, NPAlegereBac—5 .20, NPORAC=7.50 s1e 1 .
1104 fton  latioo007s \mmrm,mwaea |MBAC=6. 40, NPO=6. 30, NPAlegereBac=5. 40, NPOBAC=7.50 sa0 1 T
1105 1700 |AT1000074 |IMAPA, MIT,sIvAPA,sTHIT | MBAC=6.58, NPO=5. 15, NPALegereBac—6 . 20, NFOBAC—6.40 ese 1 I
1106 |ton | |aTio00075 \mmmea,mwir T |MAAC=. 58, NPO=9 .25, NPAlegereBac—p .30, NPORAC=8.20 sse 1 .
1107 1100 |AT1000076 |IMAPA, IMIT,SIvAPA, STHIT |MBAC—7.75, NPO-8 . 05, NPALegeraBac—7 .75, NPOBAC—T .45 775 vmea I
110s 1T0n | |AT1000077 ITMIm,smMrr T |MBAC=6. 13, NPO=6. 65, NPALegereBac—5. 65, NFOBAC=6.10 e1s T I
1105 |ton | |aTi000078 |TmrT,smMir, Twmea,smmea |MAAC=6. 78, NPO=6 . 90, NPAlegereBac—6.90, NPORAC=6.55 ee 1 .
1110 |Ton  |AT1000075 |TmrT, vaRA, STHET,sTMRRA I&é&éléféB_ﬁééléféB_ﬁEAI;;;E;éééléfié_ﬁéééiéléfié _______ se0 1 T
1111 1700 1AT1000080 |IMIT, MAPA,SIMIT,sDvARA |MBAC=7. 18, NPO=8 . 10, NPALegereBac—7 .50, NFOBAC=5.95 E TR I
1112 {Ton | lamioooosr \mmrm,mvmem T |MAAC=5.35, NPO=8 .65, NPAlegereBac—10.00, NPORAC=9.40 o35 1 I
1115 iton latioooosz \mmrm,smar |MBAC=8.31, NPO=8 .10, NPAlegereBac—t .55, NPOBAC=8.30 .31 fmr T
111s 1Ton | |AT1000083 ITMir,mMARA T | MBAC=7 .56, NPO=8 . 50, NPALegeraBac—7 . 30, NFOBAC=8.10 1756 e I
1115 |1on | |aTio00084 |mwir,smmir | MBAC=8 .70, NPO=7 . 20, NPALegeraBac—5. 70, NPOBAC=5.20 570 T T
1116 |ton | |atiooooes \mmrm,mwaea |MBAC=7. 58, NPO=6. 90, NPALegereBac—s. 00, NPOBAC=8 .05 798 qmr T
1117 1700 |AT1000086 |IMIT, MAPA,SIMIT,smvmpA |MBAC=8 .41, NPO—7 .85, NPALegereBac—5. 40, NFOBAC=8.00 ear I
1116 |10L  |AT1000087 |IMIT,SIMIT, MAPA,sIMAPA |MBAC=6.33, NPO=6. 40, NPALegereBac—7 .45, NPOBAC=5.15 633 lsmamea |
1115 1100 |AT1000088 |IMIT,sIMiT,TMAEA I&éié_éféi_ﬁ§523f56_ﬁéiiégéiéé;£;§fié_ﬁéééiéléfié _______ T I
1120 1700 |AT1000085 |IMIT,SIMIT, MAPA,sDvAPA |MBAC=8 .01, NPO=8 . 65, NPALegereBac—7 .90, NFOBAC=7.50 a0 1T I
1121 [Ton | |aTi000050 |TmrT, Tvaea,sTwrm,smamea |MAAC=3.13, NPO—7 .75, NPAlegereBac—t .05, NPORAC=8.60 sas 1 I
1122 1100 |AT1000091 |IMIT,SIMIT, MAPA,sIMAPA |MBAC—7 .61, NPO—7 .70, NPALegeraBac—7 .55, NPOBAC=7.60 e I
1123 1700 |1AT1000052 |IMIT, MAPA,SIMIT,sDvmPA | MBAC=8 . 46, NPO=8 . 20, NPALegereBac—s. 10, NFOBAC=8.10 aas 1 I
1124 |Ton | |ATi000095 |mmApa, mMiT,smAza,sTMiT |MAAC=5.35, NPO=5 .80, NPAlegereBac—9. 45, NPORAC=8.80 535 fmwmea |
1125 1100 |1AT1000094 |IMIT,SIMIT, MABA,sIMAPA |MBAC—7.43, NPO—6. 70, NPALegeraBac—6 . 00, NPOBAC=7 .60 743 Jsmarr I
1126 1700 |1AT1000035 |IMAPA, MIT,sIMIT,smvmeA | MBAC=7 .50, NPO=8 . 65, NPALegereBac—s.00, NFOBAC=6.05 1750 |mvmea I
1127 iTon | lamiooooss mmea T |MAAC=. 50, NPO=5 .05, NPAlegereBac—9.20, NPORAC=7 .25 ss0 1 I



|[NrCrt|Sesiune|Legit |Optiuni |Note |Medie |Admis la |Observ |
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1126 1T0n | |AT1000087 ITMIT,mMARA T | MBAC=7 .66, NPO=8 . 70, NPALegeraBac—7 .00, NFOBAC=7 .30 1766 Imvmea I
1125 |ton | |atiooooss |mmmea,szarr |MAAC=7 .23, NPO=6 .50, NPAlegereBac—7 .80, NPORAC=T .40 725 1T .
1130 {ton | |atioo00ss \mmrm,mwaea |MBAC=5. 76, NPO-10 .00, NPALegereBac=s. 90, NPOBAC=9.40 o6 1 T
1131 1700 |AT1000100 |IMIT, MAPA,SIMIT,sDvmPA | MBAC=7 .50, NPO=7 . 80, NPALegereBac—6 . 80, NFOBAC=7 .10 750 1 I
1132 |10L  |AT1000101 |IMIT,SIMIT, MAPA,sIMAPA |MBAC=7.33, NPO=7.10, NPALegereBac—6. 40, NPOBAC=8.50 ER R T
1133 1100 |aTio0oloz lmwim,smvir T |MBAC=5.01, NPO-5. 20, NPAlegeraBac—5.50, NPOBAC—8.35 501 mar T
1132 1700 |AT1000105 |IMIT, MAPA,SIMIT,sDvmpA | MBAC=5.50, NPO-10. 00, NPALegereBac=3. 80, NPOBAC=3.60 se0 1 T
1135 {ton | latioooios |mmrm,smar T |MAAC=7 .55, NPO=7 .50, NPAlegereBac—t .85, NPORAC=7.20 785 1 I
1136 |ton | |atioooios |mmmea,marr I&é&éléféE_ﬁééléféB_ﬁEAI;;;E;ééélé_éé_ﬁéééiélé_éé _______ 6.5 lmwmea |
1137 1700 |AT1000106 |IMAPA, IMIT,sIvAPA,STHIT |MBAC=7 .25, NPO=7 .00, NPALegeraBac—s. 60, NFOBAC=5.15 725 1T I
1138 lon | lamioooior \mmre T |MAAC=5.15, NPO=8 .00, NPAlegereBac—10.00, NPORAC=9.45 515 jmeor I
1135 1100 |AT1000108 |IvAPA, IMIT,sIMARA |MBAC=8.13, NPO-8 . 45, NPAlegeraBac—7 .20, NPOBAC—8.75 s1s 1 I
1120 1Ton | |ATioooios lsmwrT T |MBAC=7.15, NPO=8 . 05, NPALegeraBac—6. 80, NPOBAC—6.60 1715 Jemwrr I
141 |1on | |aTioooito |mMir,mMmem | MBAC=7.90, NPO=8 . 00, NPALegeraBac—6 .25, NPOBAC—7 .45 17.50  |mvmea T
1142 1100 |AT1000111 |IMAPA, IMIT,sIvAPA, STHIT |MBAC—7 .21, NPO—7 .70, NPALegeraBac—6. 00, NPOBAC—T.95 E T I
1123 1Ton | |ATioooiiz |smwrT,smamea T | MBAC=8 .00, NPO—7 . 95, NPALegeraBac—6 . 20, NPOBAC—=7.85 8,00 lemerr I
122 |10L | |AT1000113 |IMIT, IMAPA,SIMIT,sIMmeA | MBAC=7 .88, NPO=7 .05, NPALegeraBac—6 . 90, NPOBAC=7.70 e 1 T
1145 1100 |AT1000114 |SIMAPA, SIMIT, TMARA, TMIT I&éié_éfié_ﬁééléféé_ﬁéiiégéiééééléféé_ﬁéééiéléféé _______ 610 lsmamea |
1126 1700 |AT1000115 |IMIT,SIMIT, MAPA,sDvmeA |MBAC=6.93, NPO=6. 65, NPALegereBac—7 .65, NFOBAC=6.50 ses 1 I
1147 |1on | |aTioooits |mMir,TMmem | MBAC=8 .01, NPO=8 . 90, NPALegereBac—6 .10, NPOBAC=7.05 ls.01 T T
1145 1oL |ATi000117 |mvmpA,TMiT T | MBAC—7 .76, NPO-8 . 20, NPALegeraBac—6. 90, NPOBAC—8.20 776 vmea T
1125 |Ton | |ATioooils |smerT,mvrr T |MBAC=7.58, NPO=6. 85, NPALegereBac—6 . 00, NFOBAC=7.90 1758 lemwrr I
1150 |ton | lamioooiis |smwim,mrr T |MAAC=G.76, NPO=6 .75, NPAlegereBac—7 .35, NPORAC=6.20 EErE .
1150 1100 |AT1000120 |IMAPA, IMIT,sIvAPA, STHIT |MBAC—7 .33, NPO-8 . 00, NPALegeraBac—6 . 00, NPOBAC—6.00 E T I
1152 1700 |AT1000121 |IMIT, MAPA, sIMAPA,STHIT |MBAC=7.73, NPO=8 . 70, NPALegeraBac—6 . 20, NFOBAC=6.30 7 T I
1153 |10L  |AT1000122 |IMAPA, IMIT,sIMAPA,sTNIT | MBAC=7 .66, NPO=7 .70, NPALegeraBac—6 . 80, NPOBAC=6.50 17,66 |mvmea T
1154 |10n  |ATi000123 lmvim,smvir T I&éiéléfIé_§§5;§fé6_QEAI;;;Q;é;;;IB_BB_QEBéAE;é_QB ______ 516 T I
1155 |Ton | |ATi000124 |mMim,smvrr T |MBAC=8 . 45, NPO=7 .95, NPALegereBac—s.20, NFOBAC=8.20 a5 e I
1156 |ton | |amioooizs \mmrm,smar T |MAAC=6.73, NPO=6. 00, NPAlegereBac—p .95, NPORAC=5.25 D I
1157 iton | |atioooize |smwiz,smamea |MBAC=8. 06, NPO=7 . 90, NPALegereBac—7 .60, NPOBAC=8.70 s06 1 T
1158 |Ton | |ATi000127 ITMim,mMARA T | MBAC=8 .00, NPO=7 . 25, NPALegeraBac—s.05, NFOBAC=7 .70 s00 1T I
1155 |ton | |aTioo0izs |imrT,smwir, Twmea,smmea |MAAC=3.36, NPO=8 .00, NPAlegereBac—9. 35, NPORAC=7.75 536 1 I
1160 1100 |AT1000129 |IMIT,SIMIT, MABA,sIMAPA |MBAC—6.81, NPO-5 .65, NPALegeraBac—7 . 30, NPOBAC=7.50 661 lsmirr I
1161 1700 |1AT1000130 |IMIT,SIMIT, MAPA,sDvmPA | MBAC=8 .01, NPO=7 . 20, NPALegeraBac—s.25, NFOBAC=7.60 a0 1T I
162 lon | lamioooial \mmrm,smar T |MAAC=7. 38, NPO=7 .55, NPAlegereBac—7 .60, NPORAC=7 .00 EE I
1163 1100 |aT1000132 |IvAPA, IMIT,sIMmRA I&éiéléfié_ﬁééléfié_ﬁéiiégéiééééléféé_ﬁéééiél§f65 _______ 540 |mvmpa I
16s |T0n  |AT1000133 |Tvmea,smAea T |MBAC=8 .26, NPO=8 . 15, NPALegereBac—6 .50, NPOBAC=8 .15 826 lmvmea I
165 lton | lamioooiss \mmrm,smar T |MAAC=8.23, NPO=8 .45, NPAlegereBac—p .25, NPORAC=8.00 525 1 I
66 lton  latioooiss \mmrm,smar T |MBAC=. 00, NPO=8 . 80, NPALegereBac—t .95, NPOBAC=6.25 s00 1 T
1167 1700 |AT1000136 |mMim,smvrr T |MBAC=7.36, NPO=7 .05, NPALegereBac—7 .25, NFOBAC=7 .80 738 1 I
68 lton  lamioooiar \mmrm,mvaea T |MAAC=7. 80, NPO=7 .55, NPAlegereBac—7 .95, NPORAC=7.50 780 1 I
65 lton  lamioooize \mmrr T |MBAC=3 .55, NPO=5 .00, NPALegereBac—t . 85, NPOBAC=.00 595 |mr T
1170 1700 |AT1000136 |IMIT,SIMIT, MAPA,sDvAPA | MBAC=7.50, NPO=7 . 40, NPALegeraBac—6. 60, NFOBAC=8.50 1750 lsmwrr I
1171 110L | |AT1000140 |IMAPA, IMIT,sIMmPA,sTMIT | MBAC=6. 20, NPO=5. 50, NPALegeraBac—6. 30, NPOBAC=6.80 o201 T
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1172 1700 |AT1000141 |IMIT,SIMIT, MAPA,sDvAPA |MBAC=7.73, NPO=5. 15, NPALegeraBac—6 . 20, NFOBAC=5.85 773 e I
1175 |Ton | |atioooidz |mmrT,smwir, zwmea,smmea |MAAC=. 63, NPO=6. 30, NPAlegereBac—7 .00, NPORAC=6.60 665 1 .
1174 {ton | latioooiss \mmrm,smar T |MBAC=3 .55, NPO=8 . 90, NPALegereBac—t .85, NPOBAC=7.90 55 1 T
1175 1700 |AT1000144 |IMIT,SIMIT, MAPA,sDvAPA |MBAC=7 . 46, NPO=7 . 80, NPALegereBac—6 . 30, NFOBAC=6.30 EI TR I
1176 |T0L  |AT1000145 |IMIT,SIMIT, MAPA,sIMmPA |MBAC=7.31, NPO=6. 70, NPALegereBac—7 .70, NPOBAC=7.55 EIE T T
1177 iTon | \atioooiss \mmrm,smarr |MBAC=7.33, NPO=6. 50, NPALegereBac—6. 50, NPOBAC=8 .60 EREE R T
1176 1700 |AT1000147 |IMAPA, MIT,sIMIT,smvmPA |MBAC=7.75, NPO=8 . 15, NPALegereBac—7 .75, NFOBAC=7 .35 E T T
1175 |10L  |AT1000148 |IMAPA, IMIT,sIMAPA,sTNIT |MBAC=7. 48, NPO=8 . 15, NPALegeraBac—7 . 40, NPOBAC=6.90 17,28 |mvmea T
1180 1100 |AT1000149 |IMAPA, IMIT,sIvAPA, STHIT I&éiéléféi_ﬁ§523f55_ﬁéiiégéiééééléfié_ﬁéééiéléfié _______ e 1 T
1181 1700 |AT1000150 |IMIT, MAPA,SIMIT,smvmpA |MBAC=7 .85, NPO=6. 20, NPALegeraBac—6 . 25, NFOBAC=5.10 e 1 I
1182 lton | latioooisi \mmrm,smar T |MAAC=7 .15, NPO=5 . 60, NPAlegereBac—9. 60, NPORAC=6.25 EICR P a— I
1183 1100 IATi0001s2 lmvim,smvir T |MBAC—7 .48, NPO-8 . 45, NPAlegeraBac—6. 80, NPOBAC=7 .20 a1 I
184 1700 |AT1000153 |IMIT, MAPA,SIMIT,smvmpA |MBAC=7.16, NPO=7. 15, NPALegereBac—6. 65, NFOBAC=7 .70 1716 lmmea I
185 lton | lamioooiss \mmrm,smar T |MAAC=6.51, NPO=6. 40, NPAlegereBac—6.45, NPORAC=6.70 D I
86 lton  latioooiss \mmrm,smar |MBAC=6. 10, NPO=6. 40, NPALegereBac=5. 00, NPOBAC=6.50 s10 1 T
1187 1700 |AT1000156 |IMIT, MAPA,SIMIT,smvmpA |MBAC=8 .91, NPO=8 . 55, NPALegereBac—s. 40, NFOBAC=8.80 P T I
188 |10L  |AT1000157 |IMIT,SIMIT, MAPA,sIMAPA |MBAC=7.28, NPO=8 . 35, NPALegereBac—7 . 45, NPOBAC=6.05 728 1 T
185 |ton  latioooise \mmrm,mvaea I&éié_éféE_ﬁééléféB_ﬁEAI;;;E;éééléféé_ﬁéééiéléfié _______ ses 1 T
1150 1T0n | |AT1000156 |TMIT,mMARA T |MBAC=8 . 16, NPO=7 . 50, NPALegereBac—s.00, NFOBAC=8.00 e 1 I
1191 |Ton | |aTioo0iso |mmrT, tvaea,stwrm,smmea |MARC=3 .53, NPO=9 .00, NPAlegereBac—10.00, NPORAC=7.80 o5 1 .
1102 iton | latioooiel \mmrm,smar |MBAC=7. 36, NPO=5 .80, NPALegereBac—7 .60, NPOBAC=8.70 756 1 T
1153 1700 |AT1000162 |IMIT, MAPA,SIMIT,smvmeA | MBAC=8 .76, NPO=5. 50, NPALegereBac—s. 30, NFOBAC=7.50 P I
1104 |Ton  |aTioooies |stvaea,smwrT, mamem, mwrr |MAAC=7 .38, NPO=5 .80, NPAlegereBac—p .35, NPORAC=8.00 738 fmmea |
1195 |10L  |aTio00le4 |Ivmph,smmAea |MBAC—7 .71, NPO-8 . 70, NPALegeraBac—6 . 60, NPOBAC=5.85 E T I
1156 1705 |AT1000165 |IMAPA, IMIT,sIvAPA,STHIT |MBAC=8.63, NPO=5 . 10, NPALegereBac—s. 40, NFOBAC=8.40 .63 lmvmea I
1197 lTon | lamioooiss lmmrr T |MAAC=3.13, NPO=8 .20, NPAlegereBac—9. 40, NPORAC=6.80 515 qmrr .
1198 1100 |AT1000167 |IMIT, MAPA,SIMIT,sIMAPA I&éiéléféé_ﬁééléfié_ﬁéiiégéiééééléféé_ﬁéééiéléféé _______ 5.00 T I
155 |T0L  |AT1000168 |IMAPA, IMIT,sIvAPA,sTHIT |MBAC=6. 76, NPO=7 . 50, NPALegereBac—7 . 30, NFOBAC=5.50 e 1 I
200 |10n  |ATi000165 |tmAea, mMiT,sTwAza,sTMIT |MAAC=. 45, NPO=5 .20, NPAlegereBac—t .00, NPORAC=6.15 645 lsmmara |
201 fton | latioooi7o \mmmea,mair |MBAC=3 . 65, NPO=5 .00, NPALegereBac—t .50, NPOBAC=8 .45 ses 1 T
1202 1700 1AT1000171 |IMIT, MAPA,SIMIT,sDvmPA | MBAC=7.50, NPO=8 . 15, NPALegeraBac—6 . 10, NPOBAC=6.25 1750 |mvmea I
205 |on | lamioooirz \mmrm,smer T |MAAC=3.31, NPO=8 .50, NPAlegereBac—9.75, NPORAC=6.70 PIE N I
204 1100 |AT1000173 lTMiT,mMREA T |MBAC=8 .33, NPO—7 .70, NPAlegeraBac—5.20, NPOBAC—8.10 .35 mar I
1205 1700 |AT1000174 |IMIT, MAPA,SIMIT,smvmPA |MBAC=6. 21, NPO=5. 60, NPALegeraBac—6. 85, NFOBAC=6.20 T I
206 |ton | |atioo017s \mmrm,smer T |MAAC=6.00, NPO=5 .05, NPAlegereBac—7 .85, NPORAC=5.10 s00 1 I
207 1oL |ATi000176 lmviT,smvir T I&é£523f56_ﬁ§523f66_ﬁéiiégéiééééléféé_ﬁéééiéléféé _______ 720 szt I
1208 1T0L | |AT1000177 ImMim,smMrr T |MBAC=7.63, NPO=8 . 25, NPALegeraBac—6. 90, NFOBAC=7 .75 1763 lemurr I
205 |ton | |aTi000178 |TmAea, mMir,sTwAza,sTMIT |MAAC=6. 61, NPO=5 .15, NPAlegereBac—t .30, NPORAC=5.90 I T R
210 {ton | latioo017s \mmrm,smar |MBAC=. 26, NPO=5 .95, NPALegereBac=5. 35, NPOBAC=7.50 626 1 T
1211 1Ton | IATioooiso lmMir,smvrr T |MBAC=7.18, NPO=5.75, NPALegeraBac—6 . 40, NFOBAC=7 .40 7e T I
212 |T0L  |AT1000181 |IMIT,IMAPA,SIMIT,sIMmpA |MBAC=7.15, NPO=7 .55, NPALegeraBac—7 .50, NPOBAC=6.40 s T
215 1100 |AT1000182 |IMIT, MAPA,SIMIT,sIvAPA |MBAC=8 .65, NPO—7 . 15, NPAlegeraBac—5. 60, NPOBAC=5.20 ses 1 I
212 1700 |AT1000183 |IMIT, MAPA,SIMIT,smvmPA |MBAC=8 .63, NPO=5. 80, NPALegereBac—6 . 60, NFOBAC=7.50 a6 1 I
215 |on | |atioooied |mmrT,tvaea,smwza,smwrr |MAAC=. 63, NPO=5 .25, NPAlegereBac—6.55, NPORAC=8.10 665 1 I
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216 1T0L | |ATi000185 |TMir, mvARA,sDMIT |MBAC=7.93, NPO=8 . 60, NPALegeraBac—6 .55, NPOBAC—6.65 1753 e I
217 |10L | |AT1000186 |IMIT,SIMIT, MAPA,sIMAPA |MBAC=7.08, NPO=7 .75, NPALegeraBac—7 . 60, NPOBAC=5.90 708 1 T
216 1100 |AT1000187 |IMIT,SIMIT, MARA,sIMAPA |MBAC—7 .48, NPO—7 . 40, NPAlegeraBac—6. 85, NPOBAC—8.20 748 Jsmarr T
215 1700 |AT1000188 |IMIT, MAPA,SIMIT,sDvmPA |MBAC=8 .83, NPO=8 . 35, NPALegeraBac—s.00, NFOBAC=5.15 ses 1 I
220 |on | |atioooies |smwim,mwmea T |MAAC=. 50, NPO=5 . 50, NPAlegereBac—p .70, NPORAC=6.50 650  [smwrr .
221 1100 |AT1000150 |IMIT, MAPA,SIMIT,sIvmPA |MBAC—7 .28, NPO—7 .05, NPAlegeraBac—7 .75, NPOBAC=7 .05 728 1 T
222 1Ton | IATio001si |mMir,smvrr T | MBAC=8 . 80, NPO=5. 00, NPALegeraBac—5.50, NFOBAC=7.90 ss0 1 T
223 |10L  |AT1000152 |IMAPA, IMIT,sIvAPA,sTNIT |MBAC=6.11, NPO=5. 45, NPALegereBac—6. 30, NPOBAC=6.60 e 1 T
224 1100 |AT1000195 |IMIT,sIMiT,MAEA I&é£523f15_ﬁééléféé_ﬁéiiégéiéé;£;§f26_ﬁéééiél§f£5 _______ ER T T
225 1oL |ATi0001s4 |mMim,smvrr T |MBAC=6.73, NPO=7 . 20, NPALegeraBac—5.00, NFOBAC=8.00 R I
226 |ton | |atioooiss |smwim,mwmea T |MAAC=6. 50, NPO=6. 00, NPAlegereBac—7 .00, NPORAC=6.00 ss0 1 I
227 1oL |aTi000196 |mvmpA,TMIT T |MBAC=5. 28, NPO-10..00, NPALegereBac—s. 55, NPOBAC=3.30 1528 |vmpa I
228|100 |AT1000187 |IMAPA, MIT,sIvAPA,STNIT | MBAC=6. 36, NPO=7 .00, NPALegereBac—6. 75, NFOBAC=5.35 e 1 I
220 |ton | |amioooiss |mmrm,mvaea T |MAAC=6. 08, NPO=5 .00, NPAlegereBac—7 .80, NPORAC=5 .45 s0s 1 I
1230 1100 |AT1000199 |IMIT, MAPA, SIMIT,sIvAPA |MBAC=5.21, NPO-5.50, NPAlegeraBac—5. 55, NPOBAC—8.60 DT I
1231 1700 |1AT1000200 |TvmEa,sTAeA T | MBAC=6. 68, NPO=5. 70, NPALegeraBac—6 . 60, NFOBAC=5.75 ses 1 I
232 |10L | |AT1000201 |IMIT, MAPA,SIMIT,sIMmeA |MBAC=7.83, NPO=8 . 05, NPALegeraBac—6 . 80, NPOBAC=6.65 17,63 |mvmea T
1233 1100 |AT1000202 |IMIT, MAPA,SIMIT,sIvAPA I&é£523f6é_ﬁ§523f§5_ﬁéiiégéiéé;£;§f66_ﬁéééiéléféé _______ 70 1 T
233 1100 |1AT1000205 ITMIT,mMRRA T |MBAC=8 .75, NPO=5. 00, NPALegeraBac—6 . 15, NPOBAC=8 .85 a.75  lmor I
235 |on | |ATi000204 |TmrT, Tvarm,sTwr,smamea |MAAC=7. 68, NPO—7 .20, NPAlegereBac—9.50, NPORAC=6.35 R .
236 1100 |AT1000205 |IMIT, MAPA,SIMIT,sIMAPA |MBAC—7.13, NPO—7 .55, NPAlegereBac—6. 15, NPOBAC=7 .70 713 vaea T
237 1100 |AT1000206 |mvmEA, T T |MBAC=7. 46, NPO=8 . 45, NPALegereBac—7 . 30, NFOBAC=6.65 a1 I
238 |ton | |amiooo207 \mmrm,smar T |MAAC=7.05, NPO=7 .20, NPAlegereBac—t .35, NPORAC=5.50 705 fsmwrr .
235 |ton | lamiooozos \mmrr T |MBAC=.03, NPO=8 . 80, NPALegereBac—s.20, NPOBAC=.10 5,05 jmrr T
240 1700 |1AT1000208 |TMIT, MAPA,STMIT |MBAC=7.75, NPO=7 . 45, NPALegereBac—6 . 00, NFOBAC=7.80 1775 mmea I
241 |T0L | |AT1000210 |IMAPA,SIMAPA, TMIT,STMIT | MBAC=6.75, NPO=8 . 30, NPALegereBac—6. 15, NPOBAC=5.80 e 1 T
242 1oL |ATi000211 lmwim,smvir T I&éiéléfii_ﬁééléfié_ﬁéiiégéiéé;£;§féé_ﬁéééiéléféé _______ a1 I
243 1100 |AT1000212 |IMIT,SIMIT, MAPA,sDMARA | MBAC=6. 68, NPO=6. 70, NPALegereBac—6. 95, NFOBAC—6.40 668 lsmwrr I
200 fTon | lamiooo21s lsmrr T |MAAC=5.37, NPO-10.00, NPALegereRac=s. 95, NEORAC=8. 70 EIE I P — I
245 1oL |ATi000214 lTvim,smvir T | MBAC=6. 06, NPO-5 . 40, NPALegeraBac—7 .40, NPOBAC=5.40 eoe 1 I
246 110D |AT1000215 |IMAPA, MIT,sIvAPA,STNIT | MBAC=6. 00, NPO=5. 50, NPALegereBac—7 . 30, NFOBAC=5.20 500 1T I
207 |Ton | |aTio00216 |mmAea, mMiT,smwAza,sTMrT |MAAC=G.56, NPO—7 .25, NPAlegereBac—6.30, NPORAC=6.15 656 1 I
248 fton | lamiooo217 mmrz T |MBAC=3 .06, NPO=5 .45, NPALegereBac—t .10, NPOBAC=6.65 s06 1 T
245 110D |AT1000218 |IMAPA, MIT,SIMIT,smvmPA |MBAC=6. 18, NPO=6. 40, NPALegeraBac—6. 85, NFOBAC=5.30 ee 1 I
1250 |10L | |AT1000219 |IMIT, IMAPA,SIMIT,sIMmpA |MBAC=7.21, NPO=6. 45, NPALegereBac—7 .65, NFOBAC=7.55 E T T
251 1100 |AT1000220 |IMIT,SIMIT, MARA,SIMAPA I&é£523f5é_ﬁ§523f25_ﬁéiiégéiééééléfié_ﬁéééiéléféé _______ 726 lsmarr I
1252 1700 |AT1000221 |IMIT, MAPA,SIMIT,sDvARA | MBAC=7.50, NPO=5. 85, NPALegereBac—s. 10, NFOBAC=7.55 750 1 I
255 |ton | |atioooszz |smwim,smmen |MAAC=3.31, NPO=8 .20, NPAlegereBac—9.75, NPORAC=7 .00 531 fsmwrr I
254 1100 |AT1000223 |IMIT,SIMIT, MARA,SIMAPA |MBAC=6.05, NPO-5 . 45, NPALegeraBac—7 .45, NPOBAC=5.25 eos 1 I
255 110D |AT1000224 |IMIT,SIMIT, MAPA,sDMAPA |MBAC=6. 91, NPO=7 . 20, NPALegereBac—7 .85, NFOBAC=5.70 se1 1 I
256 |0n | |ATi000225 |TmrT, Tvara, sTwrT,smamea |MAAC=7. 60, NPO=7 . 30, NPAlegereBac—p. 15, NPORAC=7.35 760 1 I
257 iton | latiooosze \mmrm,mwaea |MBAC=7.33, NPO=6. 60, NPALegereBac=s. 30, NPOBAC=8.35 ERE N T
258 |T0L | |ATi000227 |smwrsmamea T | MBAC=8 . 68, NPO=8 . 70, NPALegeraBac—s. 35, NFOBAC=8.00 ses 1 I
255 |ton | \atioooszs |smwaea,smwre T |MAAC=3. 46, NPO=8 .35, NPAlegereBac—p .25, NPORAC=8.80 sa6 1 I



|[NrCrt|Sesiune|Legit |Optiuni |Note |Medie |Admis la |Observ |
l R l e l e l o l o l e l e l e l
|260 |IUL |AT1000229 |IMAPA, IMIT |[MBAC=7.70,NPO=7.55,NPAlegereBac=8.70, NPOBAC=6.85 |7.70 | IMAPA |

261 |Ton | |ATi000230 |TmAra,szwmea, miT,sTMrT |MAAC=G.33, NPO=5 .20, NPAlegereBac—p .40, NPORAC=5 .40 D .
262 lton latiooo231 \mmrm,mwaem |MBAC=7. 63, NPO=6. 75, NPALegereBac—7 .95, NPOBAC=8.20 76 1 T
263 1100 |1AT1000232 |IMIT,SIMIT, MAPA,sDvARA | MBAC=5. 00, NPO=5. 00, NPALegeraBac—s.00, NFOBAC=0.00 500 T I
264 |Ton | |ATi000233 |TmrT,stMir, Twmem,smmea |MAAC=. 58, NPO=6 . 15, NPAlegereBac—p .35, NPORAC=6.25 see 1 .
265 1100 |AT1000234 |IMAPA, IMIT,SIvAPA, STHIT |MBAC=8 .41, NPO-5. 80, NPALegeraBac—5.20, NPOBAC—6.25 a1 T
266 110D |AT1000235 |IMAPA, IMIT,sIvAPA,STNIT |MBAC=7.61, NPO=7 .75, NPALegeraBac—7.55, NFOBAC=7.55 e T
267 |ton | |atiooo23s |mmrm,mvmem T |MAAC=7 .58, NPO—7 .25, NPAlegereBac—9. 45, NPORAC=6.95 R I
268 lton | lamiooo23r lsmazr T |MBAC= .36, NPO=8 .25, NPALegereBac—7 .85, NPOBAC=5.00 836 fsmwrr T
1265 1oL IATi000238 lmvrr T |MBAC=5. 11, NPO-5. 60, NPALegereBac—s.00, NFOBAC=8 .75 511 meor I
270 |on | |atioo023s |smwmem,smwre T |MAAC=6. 08, NPO=5 .45, NPAlegereBac—6.75, NPORAC=6.05 s0s 1 I
271 {Ton | |atiooo2d0 |stwiz,smamen |MBAC=7. 52, NPO=7 .35, NPALegereBac=s. 00, NPOBAC=6.75 R T
1272 1700 |AT1000241 |IMIT,SIMIT, MAPA,sDMARA |MBAC=8 .23, NPO=5. 05, NPALegeraBac—6 .50, NFOBAC=7 .15 a2 1T I
275 |Ton | |aTioo024z |mmrT, tvaea,sTwr,smmea |MAAC=G.43, NPO=5 . 65, NPAlegereBac—p. 10, NPORAC=5.55 6.5 1 I
274 1100 |AT1000243 |IMIT, MAPA, SIMIT,sIMAPA | MBAC=6.80, NPO—6 . 25, NPALegeraBac—6 . 10, NPOBAC—6.05 660 lmvmpa I
275 1T0L | 1AT1208001 |IMTT-MR,sDMIT,TMIT |MBAC=6.75, NPO=6. 25, NPALegereBac—6. 60, NFOBAC=7 .40 eas 1 P
276 |seer  |amizosool |mmmea,szamea |MAAC=G. 78, NPO—7 .10, NPAlegereBac—p .25, NPORAC=5.00 ee 1 or
277 |SEPT | |AT1208002 |IMAPAMR, MAPA, STMARA |MBAC=6. 05, NPO—6 . 70, NPALegeraBac—5 .95, NPOBAC=5.50 6.05  |vmpAR MR
1276 |T0n | |AT1208002 | IMIT-MR, TMIT, SIMIT, IMAPAMR, TMAPA, SIMAPA |MBAC=7 .20, NPO=7.70, NPALegereBace] .45, NPOBAC=6.45 1720 |murrom  wR
275 |T0L  |AT1208003 |IMAPA-MR, INIT-UR, IMAPA, IMIT, SIMAPA, SIMIT |MAAC=6. 10, NPO=7 .50, NPAlegereBac—5. 00, NPORAC=5 .80 6,10 |mwmpanm  wR
280 |sEeT  |ATi208005 |TmAeAwm, DvaeA, sTATA |MBAC=. 20, NPO=5 .05, NPALegereBac=5. 95, NPOBAC=7.60 s20 1 [
281 |SEPT | |AT1208004 |IMAPA, MAPALMR,STAEA | MBAC=6. 51, NPO=5.00, NPALegereBac—6 .00, NFOBAC=7.45 ser 1 P
282|101 |AT1208004 | IMAPA-MR, IMAPA, SIMAPA, IMIT-MR, IMIT, SIMIT |MAAC=. 68, NPO=8 .05, NPAlegereBac—6.00, NPORAC=6.00 665 |zwmpam wR
1285 |T0n | |AT1208005 |TNIT-MR, THIT, SIMIT, TVAPA-MR, TWAPA, STMAPA |MBAC=7 .10, NPO=7.10, NPALegereBac—1. 60, NPOBAC=6.60 710 T P
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